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lecture are provided by the CDs
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1. University Physics, Bauer and Westfall,
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2. Principles of Physics, Halliday, Resnick,

and Walker, Wiley, 8t and 9t Ed.
The rest iIs made by me.



Force in 2D
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= ma cos 50° — I} cos(—150°) — F5cos90° = 12.5 N
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Pulley problem
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Body on a slope
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Cart pulling
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Friction

Static friction

Kinetic friction fi, = ur N - ‘ .
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Example 4.4 2 blocks
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Sample Problem

v=0, x=290m, g =0.60, v,="7
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v? = i+ 2a(x — x).

I) g vo = V/2upgr =210 (km/h).



VB ="25h
_.oa000  drag force

= SOO= (6232 5q
A 2
D x v
r D
Falling l—)—» 1 5
body D = —OpAU
~ N | 2
— Fg Fg
Fg
A4 A\ A4



Dimensional analysis
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